

































AEROASTRO				- 16 687
	Weight (Ibs.)	Arm (in.)	Moment (Ibsin.)	
Basic Empty Weight Pilot, Front Passengers Rear Passengers Baggage (200 lb. Max)	1,500 340 340	80.5 118.1	128,850 27,370 40,154	
Zero Fuel Condition	2,180		196,374	
Ν	lext, check ram	p condition		
	Private Pilot Groun	d School		18

Piper Warrior			- 16.687	
	Weight (Ibs.)	Arm (in.)	Moment (Ibsin.)	
Basic Empty Weight	1,500		128,850	
Pilot, Front Passengers	340	80.5	27,370	
Rear Passengers Baggage (200 lb. Max)	340	118.1	40,154	
Zero Fuel Condition	2,180		196,374	
Fuel (48 gallons max)	267	95	25,365	
Ramp Condition	2,447		221,739	
Taxi, start, runup fuel	- 7	95	- 665	
Takeoff condition	2,440	90.6	221,074	



Check Landing Condition			ondition	- 16.687
	Weight (Ibs.)	Arm (in.)	Moment (Ibsin.)	
Takeoff condition Cruise fuel (30 gallons)	2,440 -180	90.6 95.0	221,074 -17,100	
Landing condition	2,260	90.25	203,974	
	Private Pilot Ground	l School		21











Section VI	BEECHCRAFT	Wt & Bal/Equip List		Debonair B33
Wt & Bal/Equip List	Debonair B33	MOME		EIGHT
The empty weight and moment of	of the airplane at the time			
of delivery are shown on the air	plane Empty Weight and	Moment limits are	based on the fo	ollowing weight and
Balance form. Useful load items		center of gravity lim	it data (landing g	gear down).
the airplane are shown on the				-
Moment tables. The minimum an		WEIGHT	FORWARD	
indicated on the Moment Limits		CONDITION	CG LIMIT	AFT CG LIMIT
moments correspond to the fo			00.1	00.7
gravity flight limits for a particula		3000 lb. (take-off	82.1	86.7
divided by 100 to simplify comp	utations.	or landing) 2600 lb, or less	77.0	86.7
SEATING, BAGGAGE A	ND EQUIPMENT			
ARRANGEM			Minimum	Maximum
AnnAngem	ento	a statistica and	Moment	Moment
Property in		Weight	100	100
\square		2100	1617	1821
		2110	1625	1829
F. PASS F.S.		2120	1632	1838
F. PASS F.S.		2130	1640	1847
FT POS 89		2140	1648	1855
	66	2150	1656	1864
R. SEAT	2 FS 108	2160	1663	1873
PASS 118	-	2170	1671	1881
	10 3>FS 135	2180	1679	1890
FS 14	10 LI FS 135	2190	1686	1899
(1995-1997) — 1997		2200	1694	1907
MAXIMUM WEIGHT 270	POUNDS INCLUDING	2210	1702	1916
EQUIPMENT AND BAGGAGE		2220	1709	1925
MAXIMUM WEIGHT 200 P		2230	1717	1933
REAR SPAR INCLUDING EQ		2240	1725	1942
WITH REAR SEAT REMOVED		2250	1733	1951
MAXIMUM WEIGHT 270 P	OUNDS AFT OF REAR	2260	1740	1959
SPAR INCLUDING EQUIPME		2270	1748	1968
REAR SEAT REMOVED.		2280	1756	1977
		2290	1763	1985
LL BAGGAGE/CARGO MUST BE		Lunna and and and and and and and and and		
	Source: Public Domain	6-12		August 1979
				11.

USEFU		HTS AND MO	OMENTS			(Continued) 140	
	0000	IPANTS		:	Moment		Moment
	Front	Seats	Rear Seat	Weight	100	Weight	100
	Fwd Position	Aft Position		1.30 1.40	182 196	210 220	294 308
	ARM 85	ARM 89	ARM 118	150	210	230	322
				160	224	240	336
WEIGHT	MOM/100	MOM/100	MOM/100	170	238	250	350
				1.80	252	260	364
120	102	107	142	190	266	270	378
130	110	116	153 165	2:00	280		
140	128	125 134	177				
150 160	128	134	189	CA	RGO (With Rea	ar Seat Remo	ved)
170	144	142	201				
180	153	160	212	AHEAD	OF SPAR	AFT O	F SPAR
190	162	169	224	AR	M 108	ARM	1 1 3 5
200	170	178	236				
200			200		Moment	-	Moment
OTE: OCCL			STABLE SEATS	Weight	100	Weight	100
RE SHOW	N AT THEIR E			20	22	20	27
RE SHOW	SITIONS WILL	REQUIRE INTER	TIONS. INTER- RPOLATION OF	20	22	20	27
RE SHOW		REQUIRE INTER		40	43	40	54
RE SHOW	SITIONS WILL	REQUIRE INTER		40 60	43 65	40 60	54 81
RE SHOW	SITIONS WILL T/100 VALUES BAG	REQUIRE INTER		40 60 80	43 65 86	40 60 80	54 81 108
RE SHOW	SITIONS WILL T/100 VALUES BAG	REQUIRE INTER		40 60	43 65 86 108	40 60 80 100	54 81 108 135
RE SHOW	SITIONS WILL NT/100 VALUES BAG ARM	REQUIRE INTER	RPOLATION OF	40 60 80 100	43 65 86	40 60 80	54 81 108 135 162
RE SHOWN	SITIONS WILL IT/100 VALUES BAG ARM Moment	REQUIRE INTER	APOLATION OF	40 60 80 100 120	43 65 86 108 130	40 60 80 100 120	54 81 108 135
RE SHOW	SITIONS WILL NT/100 VALUES BAG ARM	REQUIRE INTER	RPOLATION OF	40 60 80 100 120 140	43 65 86 108 130 151	40 60 80 100 120 140	54 81 108 135 162 189
RE SHOWN	SITIONS WILL IT/100 VALUES BAG ARM Moment	REQUIRE INTER	APOLATION OF	40 60 80 100 120 140 160	43 65 86 108 130 151 173	40 60 80 100 120 140 160	54 81 108 135 162 189 216
RE SHOWI IEDIATE PO HE MOMEN Weight	SITIONS WILL IT/100 VALUES BAG ARM <u>Moment</u> 100	REQUIRE INTER GAGE 1 140 Weight	Moment 100	40 60 80 100 120 140 160 180	43 65 86 108 130 151 173 194	40 60 80 100 120 140 160 180	54 81 108 135 162 189 216 243
RE SHOWI IEDIATE PO HE MOMEN Weight 10 20 30	SITIONS WILL IT/100 VALUES BAG ARM <u>Moment</u> 100 14	REQUIRE INTER GAGE 1 140 Weight 70	Moment 100 98	40 60 80 100 120 140 160 180	43 65 86 108 130 151 173 194	40 60 80 120 140 160 180 200 220 240	54 81 108 135 162 189 216 243 270
RE SHOWI IEDIATE PO HE MOMEN Weight 10 20 30 40	SITIONS WILL IT/100 VALUES BAG ARM <u>Moment</u> 100 14 28 42 56	REQUIRE INTER GAGE 1 140 Weight 70 80	Moment 100 98 112	40 60 80 100 120 140 160 180	43 65 86 108 130 151 173 194	40 60 80 120 140 160 180 200 220 240 260	54 81 108 135 162 189 216 243 270 297
RE SHOWI IEDIATE PO HE MOMEN Weight 10 20 30	SITIONS WILL IT/100 VALUES BAG ARM <u>Moment</u> 100 14 28 42	REQUIRE INTER GAGE 1 140 Weight 70 80 90	Moment 100 98 112 126	40 60 80 100 120 140 160 180	43 65 86 108 130 151 173 194	40 60 80 120 140 160 180 200 220 240	54 81 108 135 162 216 243 270 297 324









Zero Fuel Condition				
ltem	Weight	Arm	Moment	
BEW	2632		109000	
Front Seat	170	37	6290	
Center Seat	310	71	22010	
Aft Seat	370	102	37740	
Baggage A	150	138	20700	
Zero-Fuel	3632	53.89	195740	
Private Pilot Ground School 33				

Ramp Condition				
Add 64 gallons of fuel				
ltem	Weight	Arm	Moment	
Zero-Fuel	3632	53.89	1 957 4 0	
Fuel	384	43	16512	
Ramp Weight	4016	52.85	212252	
Private Pilot Ground School 34				

AEROASTRO					
Run-up: minus 16 lbs of fuel					
ltem	Weight	Arm	Moment		
Ramp Weight	4016	52.85	212252		
Run-up	-16	43	-688		
Takeoff	4000	52.89	211564		
	Private Pilot (Sround School	35		









Fuel Burn				
• 2.5 hour flight at 20 gallons per hour				
Weight	Arm	Moment		
4000	49.64	198560		
(2.5 x 20 x 6) -300	43	-12900		
3700	50.18	185660		
		40		
	flight at 20 ga Weight 4000 (2.5 x 20 x 6) -300 3700	Weight Arm 4000 49.64 (2.5 x 20 x 6) 43		





16.687 Private Pilot Ground School IAP 2019

For information about citing these materials or our Terms of Use, visit: <u>https://ocw.mit.edu/terms</u>.